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32,644
13,057
19,586

MW

UL RIY

ASotsdH234H X& 423,774 392,040 31,734
211,887
84,596
127,291

HH W

307 21201 A 423,774 392,040 31,734
211,887
84,596
127,291

MR

10 A SIAEHE2SEHIEX 423,774 392,040 31,734
OXSEotsdH 28 X& 418,440
209,220
83,688
125,532
OXdotsHe SIEEI X 3,174
1,587
476
1,11
OXYotsdE eta2dol X3 2,160
1,080
432
648

U AT U RN

MW
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HedEA24E
JIIE=EX MUlA &
OlSSXAHIA ghat

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2

XNEotsdgeHENSE S4H N 175,000 175,000 0
== 43,750
= 131,250

307 2Iz2t0| A 175,000 175,000 0
o= 43,750
= 131,250

11 A EXAIEEX 175,000 175,000 0
OX0otsHE SAHI 175,000
& 43,750
= 131,250

NEOtSHE SAAF S84 21,960 21,600 360
& 4,392
= 17,568

307 giztol & 21,960 21,600 360
< 4,392
= 17,568

10 A SAANEEHESIGHEX 21,960 21,600 360
OX<E0otsHEH SAX HRIHEHI 21,960
= 4,392
= 17,568

Z2A0lsS SAXNHE 49,275 67,525 A 18,250
J| 12,319
= 36,956

307 Q12t0| & 49,275 67,525 A 18,250
J| 12,319
= 36,956

11 A EXAIEE X 49,275 67,525 N 18,250
Odsls=4 X& 49,275
J| 12,319
= 36,956

getE 0ls AKX 189,000 198,000 29,000
J| 47,250
= 141,750

307 2Iz2to| & 189,000 198,000 A9,000
J| 47,250
= 141,750

11T AISIEXAIEEX 189,000 198,000 A 9,000
ogsts otss34a X 189,000
J| 47,250
= 141,750

SHE Ols AKX 199,500 209,000 A9,500
= 199,500

307 QI2t0| & 199,500 209,000 A 9,500
& 199,500

11T A EXAIEEX 199,500 209,000 A9,500
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OlSSXAHIA ghat

5 - 4
SA - BB B (BA) - MM - BHES Ol &+ o4 e HmEET
Oglls otssS4A XA 199,500
< 199,500
gl elx=0 XA 30,000 20,000 10,000
201 L2l 30,000 20,000 10,000
03 & Ar2 I 30,000 20,000 10,000
O0lglole &AL & BI&=01 X3 30,000
OLOIEDl E2NMY 2528 23 5,000 5,000 0
< 1,000
[ia 4,000
307 21201 A 5,000 5,000 0
< 1,000
[ia 4,000
11T AL SXAEE = 5,000 5,000 0
OO0t0IEDl E2AME 228 29 5,000
< 1,000
e 4,000
S0EE N= 5,500 4,750 750
S 1,100
s 4,400
301 LEHZ 5,500 4,750 750
< 1,100
s 4,400
01 MEI2EZE 6= 5,500 4,750 750
o=sores X3 5,500
= 1,100
s 4,400
NEotsdE 2 X2 87,800 85,600 2,200
307 glz2+ol & 87,800 85,600 2,200
11T MISRASER 87,800 85,600 2,200
OXSOotSHEH SASAA Al X2
6IH 2 %600, 000% 128 43,200
OXY0tsdE Hedl X&
64 2300, 000%4 3] 7,200
OXNSOtSHEHE SAL 2+
139% %1,000,000%23| 26,000
OX<gotsdH ssuw Myl 1402 *30, 000 4,200
OXYotsdEH ANERFLE XA
64 2 +100,000% 122 7,200
NEEHAEE SAtdl2el X 285,256 309,475 A24,219
= 228,205
< 28,526
s 28,525
101 1A dl 126,060 124,600 1,460
= 100,848
< 12,606

- 309 -




ARG RS~
M IESX ML &
& OtsSEXAMHA 4
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e

CHB G2 (B) - R -

s=

(&

0l &t o

=
i

2

HJ

12,606

SIAAZZ2NE S

OOtS S et At 22l Ab 21|

M A

126,060
126,060

100,848
12,606
12,606

124,600

1,460

UL RN

47,000
37,600
4,700
4,700

56,315

29,315

At2 22l bl

OEZAEE MY =T0 TGE AtR2el

m =
Im
=
e
Ll
[Pl
0d
0R
H0
02
==

[n oy
o Mo
[> 08

O W

HH A H A

Mo A

12,000

12,000

9,600
1,200
1,200

5,000
5,000
4,000
500
500
30,000

30,000
24,000
3,000
3,000

6,200

35,000

A3, 115

A1,200

25,000

01|

MW

20,000
16,000
2,000
2,000

19,000

1,000

W
o=
[=s

O
In
o
>
m
Im
114
10
I
A
2
==

HH A

20,000
20,000

16,000
2,000
2,000

19,000

1,000

=]

HH A

4,000
3,200
400
400

5,000

A 1,000

=
al
o

O
n
il
[~
m
Im
[H
Hu
IJ
0
Mo
09
=)
fu
on
1
(i

Mo H

4,000
4,000

3,200
400
400

5,000

A 1,000

Mo H

83,196
66,557
8,320
8,319

97,560

N 14,364
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HedEA24E
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5 - 4
SN HAGEA) - MRAY - B 0l &t o il HImEET
01 MI2EZE+06l= 79,196 95,560 N 16,364
OSEAEE Z208 29
E) 79,196
= 63,357
< 7,920
s 7,919
12 JIE24= 4,000 2,000 2,000
OCEAEE Z208 29 4,000
= 3,200
< 400
s 400
307 21201 A 5,000 7,000 A 2,000
= 4,000
< 500
[ia 500
01 =L =4l 5,000 7,000 A 2,000
O0ts AZ2H& & HeEES 2 5,000
= 4,000
< 500
e 500
SRS gtgoy AL =& 2,000 2,000 0
201 ¢4l 2,000 2,000 0
03 A2 Z Hl 2,000 2,000 0
O=3Tte gtgod A = 2,000
Ots=XwAt X & 9,400 9,400 0
101 124 dl 9,400 9,400 0
4 D12t Z2XREES 9,400 9,400 0
OOtsS R WA 21A4H K& 2,200
OOts=XNUA BEY 62 «600,000%23| 7,200
S=XNdotsdy X 14,520 14,520 0
= 7,260
< 2,904
s 4,356
307 glz2tol & 14,520 14,520 0
= 7,260
< 2,904
s 4,356
10 AL SXAIEEE 2 H EX 14,520 14,520 0
f==XI0otsdH K& 14,520
= 7,260
< 2,904
s 4,356
ots=% X=a 1,057,000 1,095,099 A 38,099
= 740,000
< 158,500




ARG RS~
M IE=X MdlA =

& OtsSEXAMHA 4 (=& J)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
o 158,500
301 LEXZ 1,057,000 1,094,674 AN37,674
= 740,000
< 158,500
s 158,500
01 MEI2EZE+05l= 1,057,000 1,094,674 N37,674
O0ts=% XI& 1,057,000
= 740,000
< 158,500
[ia 158,500
Ots=¢ 2gdl X3 (XXM At F2&d]) 300 0 300
= 210
< 30
s 60
201 Let2d] 300 0 300
= 210
< 30
[ia 60
01 At 2teltl 300 0 300
O0ts==% 2ZHl XI& 300
= 210
< 30
s 60
Ots=XgFFA 4,000 5,000 21,000
201 £B-2%H| 3,000 3,000 0
01 At 22/l 3,000 3,000 0
O0sSEXNLS At 22l 1,000
O0tsSEXNYRF=A Sl 2,000
202 04l 1,000 2,000 21,000
01 = LH Yl 1,000 2,000 21,000
O0ts=XNgS=A Ml 1,000
ass 22X 2,400 2,400 0
307 glz2tol & 2,400 2,400 0
10 M ZXNANEHI2IHES 2,400 2,400 0
O08E s&2)J| HegHXA
24 2300, 000+4 2 2,400
ANGotsdy s X 10,000 22,500 A 12,500
= 5,000
< 2,000
[ia 3,000
402 2I2H X201 M 10,000 20,000 210,000
= 5,000
< 2,000
[ia 3,000
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Off &t 24

=

i
2m

O
>
12
IS)
il
=
si
o
o
<
x
-
{0

10,000, 000% 174 2~

Mo H

10,000

10,000
5,000
2,000
3,000

20,000

NEotsSHE SAXR H

[l

A CH
— o

Mo

13,000

1,040
11,960

13,000

307 21201 &

EUNL

13,000

1,040
11,960

13,000

A S XA E X
&

OXNSOotSHE SALL

A

A
e

=4

M

13,000
13,000

1,040
11,960

13,000

oW

28,800

23,040
5,760

39,600

A~ 10,800

o

28,800
23,040
5,760

39,600

A 10,800

W

28,800
28,800

23,040
5,760

39,600

A 10,800

UL

41,334

12,400
28,934

38,724

2,610

307 glztol &

M

41,334

12,400
28,934

38,724

2,610

10 A SNAIEHES2SHIEX

OXZotsdH T2 13l =

M

41,334

41,334
12,400
28,934

38,724

2,610

L
o
il
OB
>
=
02
3
N
s,

UL

6,000

720
5,280

6,000

307 21201 &

M

6,000

720
5,280

6,000

Mo

6,000

6,000
720
5,280

6,000
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X ZH -
L= B

el

HedEA24E
JIIE=EX MUlA &
OlSSXAHIA ghat

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
AE0lsEsdE=2II2 23 UXHM €= 15,728 15,285 443
308 AHAIEHHSOIA 15,728 15,285 443
07 IXNHMAR S = 15,728 15,285 443
OXYolEEsd2I& XXH 22 15,728
NEotsdEH JIs22Ad 5,000 30,000 A 25,000
402 RI2EA=201 M 5,000 30,000 A 25,000
02 QI EAISEZ (01X THS) 5,000 30,000 A 25,000
OLAXYotsHEH JIsEZAY 5,000
ANE0tsdH 298 =t N2 3,600 0 3,600
< 1,080
[ 2,520
307 21201 A 3,600 0 3,600
< 1,080
e 2,520
10 ALSISEXAIEEE2EHEX 3,600 0 3,600
OXdotsdE 2g4l =t X & 3,600
S 1,080
s 2,520
OlsEs dgedA X2 (e1Adl) 7,865 0 7,865
= 6,292
< 787
s 786
101 @124 dl 7,865 0 7,865
= 6,292
< 787
s 786
02 JIEt A2+ 7,865 0 7,865
Ots=2s dEd X& 7,865
= 6,292
< 787
[ia 786
Ots=EXAE 29 XA 13,320 0 13,320
< 3,996
s 9,324
307 glz2+ol & 13,320 0 13,320
< 3,996
s 9,324
11T MISRASER 13,320 0 13,320
OOlsMEANE BAX EE8€Y 9,720
< 2,916
s 6,804
OZSHEIE SAA 2422 3,600
< 1,080
i 2,520
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2N

HeEAEN

M JIE=X MHIA =
& OtsSEXAMHA 4 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Ots=EXAE 8Eots X3 13,460 0 13,460
< 3,788
s 9,672
301 LEd = 13,460 0 13,460
< 3,788
s 9,672
01 Ml2ZHE 6= 13,460 0 13,460
Ela0ts NEEFEAS 5,000
< 1,250
= 3,750
OAN&Oot=s K& 8,460
< 2,538
s 5,922
FAHE AMFH 1,775,970 2,130,635 A 354,665
= 17,940
J| 230,993
< 176,861
s 1,350,176
dad B4 1,775,970 2,130,635 A 354,665
= 17,940
J| 230,993
< 176,861
[ia 1,350,176
Haod BEss4 N3 10,000 11,000 A 1,000
201 Let24d] 9,000 9,000 0
01 At 2teltl 5,500 5,500 0
OEAEE &3 2,000
OSDEH0IY L RN AH
1,500, 000& 1 1,500
OFAESNERFE Sl 2,000
03 &AL Z I 3,500 3,500 0
OFAEAZ &R Ala 700,000 500 £ 2 3,500
202 O4dl 1,000 2,000 A 1,000
01 = LH 4 Hi 1,000 2,000 A1,000
OFAHESEHE YRFT Ol 1,000
NAs BAUSEXNIMAHAR=2E 102,990 102,320 670
J| 51,495
e 51,495
101 124 dl 84,120 84,120 0
J| 42,060
s 42,060
03 RIAHAZZ2E = 84,120 84,120 0
OFAEerdY Mgolsd ol2A4H|  42,060,000%2 84,120
J| 42,060
[ia 42,060
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HeEAEN

Had AWSH
Had 2554
= _ — d =
SA - BB B (BA) - MM - BHES Ol &+ o4 e
201 Le-2d| 18,870 18,200
J| 9,435
s 9,435
01 At 22l 1,000 1,000
OAtE 2teltl 1,000
J| 500
s 500
03 & AL2 I 17,870 17,200
O AEH M I (CYS-NET) At 2 Y 17,870
—EAEEY MHIA KR 500
J| 250
s 250
—HAadorda REXAINF 3,800
Jl 1,900
s 1,900
—AJFAE SEE ¢g SEE HE 4,500
J| 2,250
[ia 2,250
—EAHME1388 R OtRclX EE2ES 2,820
J| 1,410
s 1,410
— SRS FAHE 235 E 3,250
J| 1,625
[ia 1,625
—&FAY HEHY JeaE 203 3,000
J| 1,500
s 1,500
daE FHAE 2,800 2,800
J| 1,400
[ia 1,400
201 Let24d] 2,800 2,800
J| 1,400
s 1,400
03 A2 Z HI 2,800 2,800
OXY 3AUEWARAS 29 2,800,000 2,800
J| 1,400
e 1,400
FAaEdEg=ENdEH 29 11,352 10,770
201 LBH2d| 11,352 10,770
01 At 2t 2l 7,632 7,200
O&F=J gz 50,000& x12& 600
O3JI#EI Uz 36,000& 128 432
OMEES 7¥ 300,000& »12& 3,600
OaEEsE, Mz, delzZMeEs 22
3,000,000 » 14 3,000
02 Tzl 3,720 3,570
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o AW AHSH
el A B84 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OFAESHE BE2E 25 M
5,000& =1,000H 5,000
Odaa IFXFE ME 3,500 *850 & x12& 35,700
OFEEs & & stFAAEE P2
5,000,000 »14 5,000
O& 2| &l 6,000,000 » 14 6,000
oMrgllss L (50L) 8003 *300& x12& 2,880
O&+% =&KXl 1,500, 000& 14 1,500
ONEAMH & H2AES 7 3,000,000& 14 3,000
OFHUSAL NI 228 (MH S) ¢
350,000& »12& 4,200
OFadxdd =& 60,000&*112+30& 19,800
OFA2E=EJ ZHOX RAE=>
2,700,000& 14 2,700
OFAE2IRAS 29 2,000,000 » 14 2,000
O&dA24E NEXNS WS 150,000% 119 %4 3| 6,600
O=ggs Zz2]Yd ME(XNX2 HUEZE) ¢
60,000& 203 x 1001 & 12,000
O=d&s A JIE3 2
500& +16,000H 8,000
02 232gHl 210,700 202,600 8,100
OLgAlE otd2e 4 250,000& »12& 3,000
O&IIANEZ 7,000,000& x12& 84,000
OSAHl (detdst AHUAMEZ MDY SE
g) 450,000 x12& 5,400
Odot=EAMEZ 500,000& =123 6,000
OFAEHE 2ETHH RANES
4,000,000& x 14 4,000
OZZE oy £l 8,000,000 » 14 8,000
OFadsE3d SEIAFAL 3,000,000& »14 3,000
Oz2ala ANEFEH RXAE= 5,000,000 14 5,000
Oz etdze Y 200,000& *2CH+128 4,800
O&F3xzEA Y K22 1,000, 000& *43| 4,000
O&J| otE2te| 89 1,300,000& 122 15,600
OdEJI&Hl EIIHA === 1,500,000& 13| 1,500
ORQ2l dHl A" EY 400,000 x12& 4,800
OMgz =8 CCTV 2 Xtz 2,000,000& » 14 2,000
O AA HIARIA 2¢
1,800& 10, 000KG 18,000
OFAEHE TH E AES SR
30,000,000& »14 30,000
O3 X 2l F 1,600,000& 14 1,600
O=2s HeRs 72 (8R)
7,000,000 x 14 7,000
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O3S QLELY 0l A F A HI
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202 O4dl 3,000 3,000 0
01 = LHA YI 3,000 3,000 0
OFAESRA ADEF O
3,000,000 »14 3,000
206 M= dl 106,000 106,000 0
01 =8l 106,000 106,000 0
OHSTAAL = 2ATR 29
100,000, 000& =1 100,000
ozxZd&8 2&7¢ 6,000,000& =14 6,000
301 LEEAZ 2,000 2,000 0
12 JIEtEA S 2,000 2,000 0
O=d&s A & W=sH 2,000,000 14 2,000
307 21201 A 4,400 4,400 0
01 927 24| 4,400 4,400 0
Oxggs &IX 83Xzl
2,000,000& x1& 2,000
O4BEBS0H ME A%E S 2
2,400,000& 14 2,400
401 Al BIZ 201 8I 75,000 460,000 A385,000
01 A& HI 75,000 460,000 A 385,000
O2S LS DAl BAH2-35)
50,000,000 =14l 50,000
OEsd NEsSEX(ME8HUI S)
25,000,000& =14l 25,000
HAHSEWMSOIMI0l 2G(EX) 177,372 178,500 AN1,128
| 88,686
< 26,606
s 62,080
101 1A dl 81,000 73,170 7,830
| 40,500
< 12,150
e 28,350
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O Yn=0t2tH0l Mgl oM (WsHl )
27,000,000 »3H 81,000
| 40,500
< 12,150
[ia 28,350
201 et 75,572 78,980 A 3,408
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< 11,336
s 26,450
01 At 22l 19,572 13,380 6,192
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